Joogtdubobotgdood

0d o oo, oo gog, oo o

gog Joogogoogon . gogooogon
[ 16

goag 71-86

googoogad

Laboratory Automation

URL

http://hdl_handle.net/10232/00007018




BEBAFEFLMILE (BF - WEF - LF),
No.16, p.71-86, 1983

ZRZMN)—F—bRX—= a3

B OHEAT-ETE-HT-BF O R
(19834 9 B 10 HEZE)

Laboratory Automation

Hiroto TATENO, Youichirou IwAsHITA, Akira FUKAI

(Received Sep. 30, 1983)

Abstract

Today the study of material science is so complicated and accurate, it requires amount
of measurements and processings of data and rapid publication of work. To do with them,
we have used microprocessor and function IC to control the measurement devices, to record
and process the measured data, and to link to the data processing center.

And we have surveyed literature using Acoustic Coupler and saved effort at writing paper
in English to check misspelling in paper and enable to type papers at certain format.

The result, flexibility and rapid response to the experimental condition was obtained.
We wish to provide the circuit diagrams and the programs as manual.
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REM#%%%%% EP-ROM WRITER CONTROL PROGRAM *¥¥%%%%
DEFINT A-CsE-Z:CLS:CMD"T"
DEFFNHX$ (A)=MID$ ("@123456789ARBCDEF" s A+14+1)
2 DEFFNHY$ (A)=FNHX$(A/16)+FNHX% (AAND15)
DEFFNHZ$ (A)=FNHY$ (A/256~ (A<@) *¥256) +FNHY% (AANDZS55)
PRINT TAB(Zz@) "E P - RO M WRITER"
PRINT
PRINT TAB(1@) "WHICH 7 (2708=A;2716=B,2532=Cy2764=D)":PRINT TAB(16)3""3
INPUT A%:IF A$="A" OR A$="B" OR A4="C" OR A$="D" THEN F=ASC(A%)-64 ELSE 50
PRINT " WAIT FOR SOME MINUITES..."
70 IF F=1 THEN PRINT "Z708":FORPA=BTO(&HBF):READA$:NEXT:FOR PA=(&HEQOQ) TO (&HEQ
A1) :READA%$: GOSUB4B@: POKEPA, D:NEXT:GOTOR@
80 FORPA=(&HEQ®Q) TO(&HE®BF) : READA% : GOSUR4B0: POKEPA, D:NEXT
P20 ON F GOSUB 92y94496,98:GOTO 100
92 PRINT"2708":F=1024:6=(&HFC0O®) : RETURN
94 PRINT"2716" :F=2048:6=(&HFB00) : POKE(&HEQ3Z) s 8: POKE(&HEQ4@) » (&HF7) : POKE (&HEBL3
)2 (&HB7) : POKE (&HE@68) » (&HCD) : POKE (EHE@B5) » (&HO8) : RETURN
Q6 PRINT"Z253Z2" :F=409b:6=(&HFO00) : RETURN
98 PRINT"2764" :F=8192:G=(&HEQDBQ) : POKE (ZHEDR3Z) y 321 POKE (ZHER4@) » (&HIF) : POKE (&HED63
)1 (&H1F) : POKE (&HEDAB) » (&HER) : POKE (&HEDSBS) 5 (&HZ0@) : RETURN
100 REM
11@ REM EP-ROM WRITER MAIN ROUTINE
120 REM
130 INPUT"PLEASE TURN ON THE POWER SWITCH AND SW-1 OF WRITER.

OK"5A$:IF LEFTS$(
A%, 1)"Y" THEN 130
140 PA=4:PB=5:PC=6:CT=7 ’PPI(B235) PORT
150 OUT CTs (&HP@) ’PA=IN, PE=0UT, FC=0UT
160 OUT PCy (&H40@) *OUTPUT ENABLE
17@ DEFUSRO=(&HEDGQ®) ’ERASE CHECK ROUTINE
18@ DEFUSR1=(&HE®19) ’'WRITE SUBROUTINE
190 IF F<>10Z4 THEN DEFUSRZ=(&HE@49) ELSE DEFUSRZ=(&HE@52)%¥) ’VERIFY SUBROUTINE
20@ CLS: PRINT "IT IS EPROM WRITING PROGRAM *
210 PRINT
=220 PRINT * Using memory of QEQBOH-QEQALIH"
23@ PRINT
240 REM ERASE CHECK
250 INPUT "ERASE CHECK...TURN ON THE SWITCH ON THE BOARD AND

PUT

ROM INTO SOCKET. OK"3A$
260 IF LEFT$(A%,1)<>"Y" THEN 250
270 A=0
280 A=USRO(A)
290 CLS:PRINT "ERASE CHECK "

300 IF A<:F THEN PRINT : PRINT " ERROR !! THIS ROM DOES NOT ERASED!!": PRINT "Y
OU MUST CHANGE ROM OR ERASE IT.":STOP

310 PRINT

320 PRINT " OK"

330 PRINT "NOW: WE WILL WRITE"

340 PRINT: INPUT "INPUT START ADDRESS (HEX)":i;A%: GOSUR 480 ¢ IF Dx32747 THEN D=
D-65536

350 D=D AND G: PRINT "ADDRESS="3;FNHZ$(D)"-"FNHZ%(D+F-1): INPUT " IF OK THEN TURN
OFF THE SWITCH ON THE BOARD. OK"3A$: IF LEFT$(A$,1)="N" THEN 340
340 PRINT "WRITING....": A=USR1(D)

37@ PRINT

388 PRINT "WRITE OVER"

39@ PRINT "NOW, VERIFY"

410 A=USRZ(D)

420 IF A<>D+F THEN PRINT : PRINT "ERROR !'! WE FAIL TO WRITE!!": STOP
430 PRINT

44@ PRINT “VERIFY OKR"

43@ PRINT "PUT OFF THE PROGRAMMED ROM.*

460 INPUT "WRITE ONCE MORE";A$

470 IF LEFT$(A$,1)="Y" THEN Z0@@® ELSE END

480 D=@:FORI=1TOLEN(A%$) :K=ASC(MID% (A% 1)) IFK>47ANDK<71THEND=D*1&6+K~48+ (K>b4) %72

NEXT:RETURNELSENEXT : RETURN

1000 DATA CDyBOsE@yCDs87:EB1CDrb1EDyDR3s D435 CDy 759 EDs 3Cy 20

1010 DATA @5, CDs7@+EDy 20:F@y C3y2A>0A» CD»80yEDBy 3E+ 80> D3,07

1020 DATA D3:@4647EsCDs 75 EQFEsFF3 2B 19:D35045CDs 61, EQ+ DB

1038 DATA 063F63405D3:86,021,0Cs 1E2@B7BsR1y20+FBs DBy B6-ES

1240 DATA BFyD3y065CDy70:EQDs 20y DA>» C?» CD»BAEBs CDy 875 EBs CD

1050 DATA &1+EQsDBy@45CDy»75,E0,BE-Z@RCy»CDy70+EQs 20,F0» 18

1060 DATA B5+7C+E6r10F147:DBs@41ELH CAYBDID3106:7DyD3505,5C?

1870 DATA 1By 233 7A B33 CP3FS2 4Dy 7CrELIB31F633C1473F1,025C9

1080 DATA CDs17F+@A111500,185CPy3E+905D310743E+405D3506>CY

DATA CD»73+,E@sCDs bASEBCDy 1 ,EDQ» DR @45 CDs 7A2EQy 3C» 20

DATA @5, CD»8BCrEDs Z0+FB5 C359A50A» CDy 73, E0y 3E, 80y D307

DATA ES5sDDs»E13sB&s649sDDIES EL1311:00:0457E3FESFFs X8y 16

DATA D3:04:CDs?1:E@s DRy Dby Fébs BB D3y D&y 3EYEDs 3Dy 205 FD

DATA DRsD6sELY7F1D31065 CDyBCHEDY 209ED 785 CD1B5-,EQy 10

DATA D4y C9yCDs 73+, EQs CDs bASEDs CD» 91 EQs DBy @45 CD» 742 ED

DATA BRE,»Z0,B3yCDy»8CIEDQ) 20+ F@s 18+sACy3Es925D3,07+ 3E5 40

DATA D31@63CP3yCDs 7F10A» 115005043 C?3F53:4D37CrELIB35F6

DATA 3Cs47+,F1102yCP148378y0613Cr0Z141+5CF91R+2357A9B3

DATA C947C1EL1@3+4F DB B4 ELy 4B35R13D35@637D9D335:0505C
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GO

DI
10 P

SUB 5000

M H(100)
=0

YEH FEAETHE-H-BF R

3 B=&H1400:G=&H300:0=ASC("P") :H=&H1100
7

20 GOSUR 500:1F D=13 THEN POKE B+P:D:GOTO 50
25 IF D=9 THEN END

30 IF D<&HZD THEN Zz0

4@ POKE B+PsDiP=P+1:GOTO 20

50 R

EM
P=0
D=PEEK (B+P)

tP=P+1

IF D=13 THEN RETURN

IF D=ASC("

') THEN 11@

IF D=ASC("C") THEN 1000
IF D=ASC("S") THEN Z2000
IF D=ASC("R") THEN 3000
IF- D=ASC("L") THEN 4000
IF D=ASC("H") THEN 6000
IF D=ASC("G") THEN 7000

GOTO 9999

REM*#% INPUT SUB *%*
IF (INP(&HB&)AND3Z)=0 THEN 500

D=INP (&HB4)
D=0

:RETURN

FOR A=&HBOBD TO &HFFFF STEP 2
POKE AsD:POKE A+1.D

NEXT A

GOTO 9999
GOSUR 2500
GOSUBR 2500
C=ASC("P")

:X=D
1Y=D

IF 0=A8C("0") THEN 9999

GOSUE 3500
GOTO 2000

D=PEEK (B+P)

IF D=13 THEN 0=ASC("0"):RETURN

IF D=AGC("

") THEN P=P+1:G0TO 2500

IF D=ASC("=") THEN S=-1:P=P+1:G0TO 2540

5=
D=0

N=PEEK(B+P)-ASC("0")

IF N<@ OR N>% THEN 2600
D=D*1@+N:P=P+1

IF P>G THEN O=ASC("0"):RETURN

GOTO 2550
REM

D=D*5:RETURN

GOSUB 2500
GOSUR 2500
C=ASC("R")

:X=D
Y=D

IF 0=ASC("0") THEN 9999

GOSUB 3500
GOTO 3000

IF X<@ OR X>511 OR Y<@ OR Y>47% THEN RETURN

A=INT(X/8)+(Y*64)+&HBROA

D=1:1F (X AND 7):>@ THEN FOR I=1 TO
IF C=ASC("P") THEN D=D OR PEEK(A):GOTO 3600
IF C=A8C("R") THEN D=D XOR

GOTO 3610
PORKE AsD
RETURN
GOSUR 2500
GOSUBR 2500

:J=D
:K=D

IF 0=A8C("0") THEN 9999

GOSUB 2500:L=D

GOSUR Z50@:M=D

IF 0=ASC("0") THEN 9999

C=ASC("P")
GOSUR 4500

J=LiK=M:GOTO 4030
F=@:U=ABRS(L~J) :V=ARS (M-K)
W=(L-J50)~-(L.~-J<0) Z=(M-K:0)-(M-K@)
IF Ux=V THEN 4550

Fe—1:T=J:J=KiK=TiT=LiL=MiM=T

(X AND 7):D=D*Z:NEXT I

255 AND PEEK(A):GOTO



4540
4550
4560
4570
4580
4590
44600
4610
44620
4630
4640
5000
5010
5020
5030
5040
5050
5060
6000
6010
H0z0
6030
6040
6050
6060
6070
46080
6070
6100
6110
6500
6510
6520
6530
6540
7000
7010
7020
7030
7040
7050
7060
7070
7080
7090
7100
7110
7120
7130
7140
7150
7160
7170
7180
7190
7200
7210
7220
7230
7240
9999

SRIFI PV —F—bA—2a Vv 77

T=U:U=V:iV=T:T=WiW=Z:Z=T
R=U/Z
IF F=0 THEN X=J:Y=K:GQOTO 4580
X=Kz1Y=J
GOSUR 3500
IF J=L THEN 4630
J=J+Wi R=R+V
IF R<U THEN 4560
R=R-~-U:K=K+ZiGOTO 4560
IF F=-=1 THEN T=L:L=M:M=T
RETURN
A=128:D=129
QUT As@:0UT Ds@5:0UT As1:0UT Dsb4:0UT AsZ:0UT Ds77:0UT As3:0UT Di4
QUT As4:0UT Dy34:0UT A»S:OUT Ds4:0UT As6:0UT Ds30:0UT As7:0UT Ds32
QUT ABiOUT Ds3:0UT AsQ:OUT Ds7:0UT As10:0UT Ds@:OUT A»11:0UT Ds0
OQUT A»12:0UT Ds@:0UT As13:0UT Dy@:0OUT Ay 14:0UT Dsy@:0UT As15:0UT Dy@
FOR A=&HBOOO TO &HFFFF:POKE As@:NEXT A
RETURN
D=13:GO5UR 6500:D=8:G05UR 6500
FOR L=0 TO 73:FOR J=0 TO 479:K=479-J
A=(L*¥7/8)+(K%64)+&HBB00 :E=PEEK(A) :F=PEEK(A+1)
M=L%*7 :M=M~-INT(M/8) %8

IF M=0 THEN D=E:GOTO 4280

FOR I=1 TO MiE=E/Z:NEXT I

FOR I=1 TO B-M:F=F*Z:NEXT 1

D=E OR F

D=D AND &H7F OR &HBD:GOSUBR 6500
NEXT J:NEXT L
D=13:GOSUR 4500
GOTO 9999
REM#*% OUT SUB #*%
IF (INP(E&HB&6)AND1)=1 THEN 6510
OUT &HB5.D
QUT &HB7,&HBC:OUT &HB7 s &HOD
RETURN
REM*%% GRAPH PLOT %%%
GOSUR 2500:H(@)=D:E=D
GOSUB Z500:H(1)=D:@=D
I=2
GOSUR 2500:H(I)=D:I=1+1
IF D<E THEN E=D
GOSUR Z500:H(I)=D:I=1+1
IF D<&@ THEN Q=D
IF 0=ASC("0") THEN L=I1-3:G0OTO 7100
GOTO 7040
FOR I=0 TO 47%:A=1%64+&HB000
POKE AsPEERK(A)OR 1
IF INT(I/1@)%1@=1 THEN POKE A,PEEK(A) OR &HIF
NEXT I
FOR A=&HF7CO TO &HF7FF STEP Z:POKE A, &HFF:POKE A+1,&HFF:NEXT A
FOR X=10 TO 510 STEP 1@:FOR Y=475 TO 479:GOSUR 3500
NEXT Y:NEXT X
C=ASC("P"):FOR N=@ TO L STEP Z

J=H(N)-E K=479-H(N+1)+Q

FOR M=-2 TO 2

X=J+M:Y=K+M:GOSUB 3500

X=J-M:GOSUB 3500

NEXT M
NEXT N
GOTO 9999
GOTO 5
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7 a7 AZXERDO ROM b2 v 4 SERHWT T r 27 5 A0MEY T2, DK E 7
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5. FRIER

TRIF MV A=t A= avD—BELTHRIERDOE LRI,

@Y7b7z7
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SCAERL, CERRR 7o & OSCENIIL, BHRITBE 25T 5 DU T 5 kR e ds i htEH 23,
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5 REM #%%% TYPEWRITER INTERFACE CONTROL PROGRAM #%%%
7 REM *¥%%%%%% %% TYPECTRL /B ASH %% %%% % % K %%
10 A=&H700:P=&HBORD:F=0

15 OUT 450:0UT 11,&H82

2@ FOR J=0 TO 255

30  POKE B+Js PEER(A+J) :NEXT J

40 IF (INP(9)AND1)=1 THEN GOSUP S00
65 K=130:G0TO 200

70 I=INP(4)

72 IF I=35 THEN 400

73 P=INP(9)

76 IF P>127 THEN 73

80 C=PEEK(B+1I)

?@ IF C=0 THEN 70

?5 IF C=1 THEN 70

100 IF C<63 THEN 300

110 IF C>Z@0 THEN Z00

120 IF F=0 THEN GOSUB 700

130 GOTO 300

200 IF F=1 THEN GOSUR 800

300 IF C=13 THEN 900

310 IF Kx130 THEN 900

3E@ OUT B83B:0UT 85C OR 128:iK=K+1
330 GOSUB 60

340 GOTO 70

400 IF (INP(9)AND&4)=64 THEN 400
410 IF (INP(9)AND3Z)=32 THEN 80
420 GOTO 70

500 FOR J=0 TO 255

51@ I=INP(4):IF I=@ THEN 510

9515 POKE B+Js 1

520 NEXT J:RETURN

600 M=INP(?):M=M AND 15:iM=M+1

610 FOR L=0 TO M*146@:NEXT L:RETURN
700 OUT B8s0:0UT 8, 142:F=1

71@ FOR N=0@ TO ZQ@:NEXT N:RETURN
800 OUT 8,0:0UT 8,143

810 F=0:i:N=0

820 FOR N=0 TO ZO@:NEXT N:RETURN
00 OUT ByB:0UT By 141

910 FOR N=@ TO Z@B:NEXT N

920 FOR L=0 TO K*1&6:NEXT I

930 K=0:G0TO 70
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10 Pk %% Internal Friction Measurement Pro9ram *%%xx€
=0 T HRH R RNH NN KRR RN WD EEEn by Y. Twa . %% %6 % %K K%
30 THREKRRERERNRRKKRNNXENDT / 19/ BT 333 53363 3969 K9 33331 % %% %
4@ TRRRRARKXNR U INTFRI C2Z/BASH R K55 30553 3539532696636 33 % %

50 TINITIALIZE

60 QUT 515143 ’Frea. Counter(3)

70 OUT 554128 "DAC(3)s (4)

80 OUT 595131 *DAC(1):ADC(Z)

90 OUT 63+12B *SYNTHESIZER

100 OUT 5@, 48:GOTO 1920 1@ SEC,RATIO

110 OUT S6sNOT(D/146)ANDZ55:0UT 58 (NOT D AND 15)%16 OR (INP(58)AND15):D1i=D: RETU
RN

120 DS=D1:RETURN

13@ RETURN

140 DS=FNDZ(P):RETURN

150 OUT SZsNOT(D/16)ANDZI5:QUT 545 (NOT D AND 15)%16 OR (NOT D4 AND 15):D3=D:RETU
RN

160 DS=D3:RETURN

170 OUT 53sNOT(D/16)ANDZ55:0UT 54, (NOT D3 AND 15)%146 OR (NOT D AND 15):D4=D:RETU
RN

180 DS=D4:RETURN

190 D=@:GOBUR11@ :GOSURI50 :GOSUR1I7Q

20@ CLEAR ZOQ0Q:DEFINT A-Z

210 C=0:D=0:D1=0:D4=0:DI=0:DE=0:DS5=0:EN=4095: 1=0: J=0:MODE=0:N=0:P=0:5T=0:VD=0:V5
=10:W=0:W1=0:J1=0:J2=0:T=0:TO=0:T5=0: A= (&H4041)

220 DF#=0:DE#=0:KE#=1:KF#=1:FI#=0:DGH#=0:DD#=0:D0O#=0:0F#=0:DP#=0

23@ DEF FND1(A)=(NOTINP(56)ANDZ55) %16+ (NOTINP(58)ANDZ4@) /16

24Q@ DEF FNDZ(A)=(INP(57)ANDZ40@)%100/16+(INP(57)AND15)*1@+ (INP(58)AND15)

250 DEF FND3(A)=(NOTINP(52)ANDZ55) %16+ (NOTINP(54)AND24@) /16

260 DEF FND4(A)=(NOTINP(53)AND=Z55) #16+(NOTINP(54)AND15)

270 U$=CHR$ (&HZ1)+CHR$ (&HCO) +CHR$ (&H3C) +CHR% (&H11) +CHR% (&HBB) +CHR% (&H3C) +CHR® (&H
D1)+CHR% (&H4D) +CHR$ (&HO3) +CHR$ (&HED) +CHR% (&HB@) +CHR% (&HC?)

280 UA=VARPTR(U$) :U!=PEEK(UA+1)+PEEK(UA+Z) #2564

290 U!'=U!'+65536% (V! >32768)

200 DEFUSRO=U!

310 LO%="%xxxkxxxxkx%%%x INTERNAL FRICTION MEASUREMENT SYSTEM #%%%¥%¥H%H%%"

32O CM$="" tF$="H4H##" IGS=STRINGS (4rB)+FSiA$="" s T$="" 1L $=""
330 L1$="DAC(1)  ADC(Z)  DAC(3) DAC(4)  FREG.(5) VOLTDIV. (&)  *
340 L2%=" . He HH HEEE R R i #i

Vo o#.H#8 Y #. HRHY B HEHY "
350 L3s=" Va9(3) Vd/Va(6) d(Vd/V9) Rec(4) Fres.(5) ADC(Z) I.F.(1) "

360 Lad=" HH#H# HiFHHH HHH N #HE HHHHHRHEE N HEHH "
370 N=1500: DIM DE#(N)sFR#(N)sAD(N)
380 CLS

390 PRINT & @+1.0%3

400 MODE=Q:GOSUB 870 : MODE=1:I¢=""

410 PRINT @ &4sl.1%3

420 PRINT USING LZ$3FND1(A)sFNDZ(A)sFND3(A)3sFND4(A) DF#DE#sFND1(A)*10/4096,FNDZ
(A)/100+FND3(A) *10/4096+FND4(A) ¥10/40963

430 PRINT "I1/0 Poart Number "3 CHR$ (31)

44@ PRINT "DAC(1)=1y ADC(2)=2y DAC(3)=3s DAC(4)=43 Fre«s.(5)=9, Valt(s6)=6+"
450 PRINT "Gu measurement=10 "3

460 PRINT: PRINT "WHICH(1-1@)<"5P3">" 31 INPUT P

470 IF P<1 OR P>1® THEN END

480 ON P GOSUR S50 4620 509 ,50@ .870 B70 +390 ,390 -390 1000
490 GOTO 390

500 *--DAC(1:3+4)—~

51@ PRINT USING "DAC(#) VOLT"3;P3;:INPUT DE

520 ON P GOSUB 120 +140 160 -180

530 IF DE<@ OR DE»4@95 THEN RETURN

540 IF MODE AND 2 THEN PRINT USING F#3DS;

550 FOR D=DS TO DE STEP SGN(DE-DS)

560 ON P GOSUB 110 4130 150 +170

570 IF MODE AND 1 THEN PRINT & 1Z0+9%Ps USING F$3D3

580 IF MODE AND 2 THEN PRINT USING G$3D3

590 IF Is="" THEN I$=INKEY% ELSE D=DE

600 NEXT

610 RETURN

620 ' --ADC(2)——-

4630 PRINT USING "ADC(2)=#.## V "3$FNDZ(P) /1003

640 IF INKEY#$="" THEN &30

650 RETURN

83
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660 *-- Frea. Counter —-—

670 IF P=5 THEN IF (INP(50) AND 8)=8 THEN IF I$="" THEN I$=INKEY$: GOTO 670 ELS
E 750

680 DF#=0

69@ FOR J=3 TO @ STEP -1

700 OUT 49:J+28:FOR W=1 TO 10: NEXT 'WAIT

710 DI=INP(48)

720 DF#=DF #%100+INT(DI/146) %10+ (DI AND 15)

730 NEXT

740 IF MODE AND 1 THEN PRINT “Freauencwv="3DF#y: IF INKEY$="" THEN 870

750 RETURN

760 *-- Vaoltage divider -

770 IF (INP(25Z) AND 8)=8 THEN IF I$="" THEN I$=INKEY#%: GOTO 770 ELSE B840
780 DE#=0

790 FOR J=3 TO @ STEP -1

800 OUT 254,J+8+16

810 FOR W=1 TO 10:NEXT *WAIT

820 DI=INP(Z54%)

830" DE#=DE##10@+INT(DI/16)%*10+(DI AND 13)

84@ NEXT J

850 IF MODE AND 1 THEN PRINT " Vd/V9 ratico="3DE#s: IF INKEY$="" THEN 870
860 RETURN

870 *-~- DOUBLE COUNTER READ --

880 IF P=5 THEN OUT 49,20: OUT 49y28 *Recset pPulse of Fres.

890 OUT 2544 16:0UTZ54:24 *Reset pulse of Div.

900 IF P<:6 THEN GOSUBR 670 ’Fre=.

710 IF P<:*5 THEN GOSUR 77@ ’'Div.

92@ RETURN ’

930 *%%% MODE means.....

940 ° MODE = 1... Displavy read DATA of FRE®.(5) or RATIO(6)

95@ ° 2... Displav output DATA of DAC(1:3:4)

960 4... Record DATA to Arrave DE#(I)sFR#(I).AD(I)
Q7@ 8... PRINT OUT TO PRINTER in Meazurement

980 ° 16.. PRINT OUT TO PRINTER at regular intervals
990 in measurement

1000 * -~ Measurement —-—

1010 PRINT “"START VOLT(D-4@95),<"38T3">" 31 INPUT ST:IF ST<O® THEN RETURN

1020 P=3:MODE=2:DE=8ST:PRINT CHR%(27):3STRING#(32,25)3;:1G0SUB 520 :PRINT

1830 PRINT "END VOLT(D~-4095) s <" 3EN3">" 3 : INPUT EN

1240 PRINT "STEP VOLT(1-4095),<"3V55">" 31 INPUT VS:*IF VS=<@ THEN 1040

1050 PRINT “DAC(4) N5 X~t Recarder I "2 A"+ d(VI/VE)/NiN=<"3SKE#3">" 5 1 INPUT KRE
# .
1070 PRINT “DAC(1) % X-T RECORDER I #" 2 A"+ VD/VG/N, =< SKF#3 " >" 3§ INPUT KF
#

1075 PRINT "Vd/Vg ./ A7twbh <S"50F#35">" 5 INPUT OF#

1885 IF VS=0 THEN MODE=0 :GOTO 1100

1090 A4$="N":I1F N>ABRS(EN-ST)/VS THEN PRINT "Remember DATA (Y/N)s<"3A%5">"3 2 INPUT

A$: IF A$="Y" THEN MODE=4 ELSE MODE=0 ELSE MODE=@

1100 TO=0:T=0:1=0 :Id="""NSl"Y%s Ya4¥a 5 7 N ¥4 ML

1110 C=2 *CURSOR

1120 PRINT "PRINTER QUT(Y/N)s<"3A%$5">" 3 s INPUT A$: IF As$="Y" THEN MODE=MODE OR B

1125 PRINT "INTERVAL PRINT OQUT(Y/N)s<"3A%3">" 3531 INPUT A%:IF A$="Y" THEN MODE=MODE
OR 16:PRINT "INVERVAL TIME (sec)s<{"3TS;">"3:INPUT TS

1127 PRINT "INTERVAL DISK OUT (Y/N)s<"A%$">";3:INPUT A$:IF A$="Y" THEN MODE=MODE ©
R 3Z:PRINT "INTERVAL TIME(sec)s<"TS">"3$:INPUT TS:LINE INPUT "File Name 7 "3L$:0P
EN "0"s1,L%

113@ IF MODE AND 24 THEN LINEINPUT “Comment ? "3CM$: LPRINT CMs$

1135 IF MODE AND 32 THEN L.INEINPUT “COMMENT 7 "3;CM$:PRINTH#1yCM$

114@ PRINT "START OK(Y/N)s<"3A%$3">"3:INPUT A%

1150 IF A$<>"Y" THEN 1000 )

1160 PRINT @ @s LO%5:PRINT @ 64s L3%$35CHR$(31)3

1165 IF MODE AMD 32 THEN PRINT Q@3sL%:3

1170 IF MODE AND 8 THEN LPRINT L34

1175 IF MODE AND 16 THEN LPRINT "TIME(sec) "3;L3%:CMD"T":POKEA-1,0:POKEA)D:POREA+
19@:POKEA+2,0:CMD"R"

1177 1IF MODE AND 32 THEN CMD"T":POKE A-130:POKE As@:iPOKE A+1,0:POKE A+2,@:CMD"R"
1180 FOR VD=8ST TO EN STEP VS

1190 P=3:D=VD:GOSUR 150 : FOR W=1 TO 100Q:NEXT ’Ve and Wait

1200 GOSUB 87@ *COUNTERS READ

1210 DZ=FNDZ(P) *>ADC READ

1220 IF I=0 THEN FI#=DE#:DG#=DE#

1230 DD#=DE#-DG# : DG#=DE# *DIFFERENCE

1240 IF MODE AND 4 THEN DE#(I)=DE#: FR#(I)=DF#: AD(I)=DZ
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1250 I=I+1

1260 DO#=DD#/KE#*4 . D96+2048

1265 IF VS=0 THEN DO#=DF#/KE#%4.096:G0OTO 1270 'DAC(4)=1/Vvg

1270 D4=DO#-INT(DO#/4096) %4096

1280  D=D4

1290  GOSUB 17@ *DAC(4)

1300  DO#=DE#/KF#:DP#=(DE#-OF #) /KF##*4.096

131@  DI1=DP#-INT(DP#/4094) %4096

1320 D=D1

1330 GOSUBR 11@ °*DAC(1)

1340  PRINT @ &44%Cy USING L4%35VDsDE#» DD#sD4sDF#2 D25 D13

1350  C=C+1: IF C=16 THEN C=USR@(C): C=15: PRINT Q&4%CsSTRING$(63,32)3
1360 IF MODE AND 8 THEN LPRINT USING L4%3VD;DE#,DD#:D4yDF#,D2sD1
1362 IF MODE AND 48 THEN 1344 ELSE 1370

1364 T=PEEK(A)+PEEK (A+1) *60+PEEK (A+2) *3600

1368 IF T>T® THEN IF MODE AND 16 THEN LPRINT USING “######## "+L4%5T,VD:DE#
1yDD#s D41 DF#, D2, D1 : TO=TO+TS:ELSE PRINT #1sT;DE#3DF#3D2:TO=TO+TS
1370 IF 1$="S" THEN 1390 ELSE I$=INKEY%$

1380 NEXT VD

1390 *-- END OF MEASUREMENT

1400 PRINT STRING®(4,27) :MODE=MODE OR ZiUA=T:I¢=""

141@ PRINT “END OF MEASUREMENT"

1412 PRINT "INVERSE (Y/N) <"3A%3"3>"35:INPUT A%

1414 IF A$="Y" THEN EN=ST:§T=VD:VS=-VS:GOTO 1180

1416 A$="Y"

142@ PRINT "VOLT ZERO (Y/S/N) <“3;A$3">"35:INPUT A%

1430 IF A$="Y" THEN PRINT CHR$(27)3:STRING%(3@s=5)3:DE=0: P=3: GOSUB SZ0:PRINT:
ELSE IF A$="G" THEN D=0:GOSUR 150

1435 IF (MODE AND 4)=0@ THEN 1500 *If there are no DATA

1440 A$="N":PRINT “X—t Recorder QUT(Y/N) <"3A$3">"35:INPUT A%

1450 IF A$="Y" THEN GOSUB 15z0

146@ PRINT "PRINTER OUT(Y/N) <"3A%3">"3:iINPUT A%

1470 IF A$="Y" THEN GOSUR 1740

1480 PRINT "DISK WRITE(Y/N) <"5A%3">"35:INPUT A%

1490 IF A$="Y" THEN GOSUBR 1930

1500 P=1@:CLOSE:RETURN

151® END

1520 *~- X-t Recarder QUT -—-

1530 INPUT "TIME INTERVAL (mS) "3W1

1540 INPUT "DAC(4) N5 X-t Recarder I %2 AU d(Vd/V9)/ZMNs N="3J
1550 IF J>@ THEN KE#=.5#:FOR I=0 TO J:KE#=KE#*Z:iNEXT I ELSE KE#=Z#:FOR I=J TO @:
KEH#=KE#/ZINEXT I

1560 INPUT "DAC(1) PP X-t Recarder I #°2 A4V Freauency/ZtNsN="3J
1570 IF J>@ THEN KF#=.S#:FOR I=0 TO JiKF#=KF#*ZINEXT I ELSE KF#=2#:FOR I=J TO @:
KF#=KF#/Z:NEXT 1

1580 1=0

159@ FOR VD=ST TO EN STEP VS

1600 '~ DAC(3) — ALINT 7

1610 *GOSUB 30

1620 IF I=0 THEN DD#=0 ELSE DD#=DE#(I1+1)-DE#(I)

1630 DO#=DD#/KE#+2048

1640 D4=DOH#-INT(DO#/4096) %4096

1650 '~ DAC(4) -

1660  D=D4:GOSUR 170

1670  DO#=DE#(1)/KF#+2048

1680  D1=DO#-INT(DO#/4096) #4096

1690 '~ DAC(1) -~

1700  D=D1:GOSUR 110

1710 FOR W=0 TO Wi: NEXT *~ WAIT -

1720 I=I+1:PRINT USING F$3;I;:IF I=UA THEN VD=EN

1730 NEXT VD

1740 PRINT: PRINT "X-t QUT END"

1750 RETURN
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1760 *-- PRINTER OUT --

1770 LINEINPUT "Comment ?7 "3CM$

1780 LPRINT :LPRINT CM#%: LPRINT L3%$

1790 1=0

1800 FOR VD=8T TO EN STEP VS

1810 DE#=DE#(I)

1820 IF I=0 THEN DD#=0 ELSE DD#=DE#(I+1)-DE#(I)
1830 DO#=DE#/KF#

1840 D4=DO#-—-INT(DO#/4096) #4096

1850 DF#=FR#(I)

1860 DO#=DF#/KF#+2048

1870 D1=DO#--INT(DO#/4@96) %4096

1880 LPRINT USING L4%3VD,DE#>DD#»D4»DE#:DZsD1
1890 I=I+1:1IF I=UA THEN VD=EN

1900 NEXT VD

191@ RETURN

1930 * -- WRITE DISK FILE --

1940 LINEINPUT "DISK FILE NAME 7 "sAs$

1950 LINEINPUT “COMMENT 7 "35;CMs%

1960 OPEN "0"s13A$

1970 PRINT #1,CMs$

1980 PRINT #1:S8T3EN3VS3UA

1990 FOR I=0 TO UA

bl 7] PRINT #1.DE#(I)SFRH#(I)3AD(I)3

2010 NEXT I

: CLOSE

PRINT "DISK WRITE END "

! RETURN

205@ END

3000 LINEINPUT “"FILENAME ?7 "3A$

3010 OPEN "I">1,A%

3020 LINEINPUT #1,A%:PRINT Ad

3030 INPUT #1:ST2ENsVEsUAIPRINT STHEN»VS,UA
3040 FOR I=0 TO UA

3050 INPUT #1,DE#,DF#,D2:PRINT DE#:DF#,D2
3060 NEXT I

3070 CLOSE
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